A7)

-2

Flux (10"ergs s’ cm

40

30

20

10

SDSS J1227+0212
2000

1500 2500
\ \ \ ]
Rest Wavelength (A) z= 2.134 ]
L R R | J \ \ |
4000 5000 6000 7000 8000 9000

Observed Wavelength (A)



A7)

-2

Flux (10"ergs s’ cm

SDSS J1227+0212
1350

1400

|
o

[

T C1 1277 0.0

~

0

Rest Wavelength (A)

z=1.9786

Silt 1304 0.0

P

QSi lIm* 1309 0.3

XE 011302 0.0

EG:Hm?:I;’Q&Q-@::::::::::::::::::::::::::

Call

Calll

60 PR | I """"""""" ST e

-
T

. SiIV13940.0

|
I

| 25
I .4

... SiIV.14030.0..................

_AlIll 1855

| DI
I

Allll 1863 1.2518

T

“Sillm*15330.3

3800

4200

Observed Wavelength (A)

4400



B Rest Wavelength (A) ,=1.9788= 2.134

A7)

-2

Flux (10"ergs s’ cm

N
o

10

Si 11 1527 0.0

§

;Si lIm* 1533 0.3

:::le*::156110?04:::::::::::

i‘C 11560 0.0

C 11657 0.0

Fe 11 1608 0.0
C Im* 1657 0.04

Al ll 1671 0.0

4600

4800
Observed Wavelength (A)




A7)

-2

Flux (10"ergs s’ cm

35

30

25

20

15

10

— —

- o _

| Rest wavelength (AL=19786 z= 2.134 |
! 777777777777777 77777777 5 N :

- 3 ]
w‘
Q!

— N _
L

[ *. |
£

- 3 _

A

] _

I Na | N

° o = © - = <

I L w:'; L;' o (=) Q. o d ‘tw ]

L it = = g N S| o S| o - - 7
: T N o © 8 3 <3 !

| 8l N g T ® 3 Y Q o ]

- e <3 & s s S 3 3 1

i 3 ¢ SICIC - I SC NI

| ‘ | | ‘ | | ‘ | ‘ | |

5200

5400

5600 5800
Observed Wavelength (A)



20

-1)

2 2
cm A
LY
&)}

-1

Flux (10""ergs s
S

SDSS J1227+0212
1900 1950 2000

(o]
i q\jw)ﬁgw B
| | | ‘ | | | ‘ | | | ‘ | | |
6000 6200 6400 6600

Observed Wavelength (A)



SDSS J1227+0212
2200 2250 2300

2150

2100

. [ i
< | : :
o~ | ” ”
- | ” ” —
N eﬁ ‘L E,v ]
E ” ” ” - Ul clve«<wired 6°0 LLbZ «WIl 34 {
N 270 90%Z »WIl o4
— 770 0092 UIT 34 V|
R —— vavwmm~*==_mmm
—_ ©°0 68€2 »Wl o4 “
00€g¢cz Il o4 J‘ B
s 00 vZEZ 1194 u
I 70 9982 sWI 94, |
T A 706662 Wl o3| |
~[ S 00 bpeZ Il mmﬂ
oMn\ . 6°0 6€Z «WJ| mnt
B S S S 7°0 €62 <WI[ 04 7 |
-—lm *
te ) MK
c |
o |
D | .
S |
g
- |
@ | n
e .
@
©o|: N
8 .
N
o
.
I |
N
| | L&
H (= Ty (=]
L L

(.Y ,wo sshbis, oL)xnld

7200

7000

6800

6600

o

Observed Wavelength (A)



z= 2.134

2500

2450

Rest Wavelength (A)

SDSS J1227+0212
2400

2350

/70 2€92 ~WiJ 8 |

W '0 929¢ Wil o4

Hx
70 €19¢ Wil mmf

—
0°0 909¢ I U ﬂmj

0°0009¢ 114 v°0 6652 LWl mm\h

0°0 ¥6Sc Il UN ﬂ

0°0 Z8sc Il mmM -

0°0 ZLSc I UN

T e e oovaN:M

z=1.9786

2300

= M
=
=

o L Evm*E‘z‘mm‘ P ——

L Eeedeennee e

670 LLpZ U0, mm

=]
—

o

(.Y ,wo sshbis, oL)xnld

-0 ¢

7800

7600

Observed Wavelength (A)

7400

7200



Flux (10"ergs s ecm? A”)

15

-~
(=

% \
Mg 11 2796 0.0

= Mg Il 2804

Mg 12853 0.0

8000 8200
Observed Wavelength (A)

8400



Flux (10"ergs s ecm? A”)

20

~
S]]

-~
o

2750 2800 2900 2950
[ I ‘ I I ‘ I I ‘ I I ‘ I I ‘ T ]
B z=1.9786 Rest Wavelength (A) z= 2.134 o
b . S —|

He Im* 2946 159.9

8800

9000 9200

Observed Wavelength (A)



